THE CITY OF ROCHELLE

Ogle County, Illinois

RESOLUTION

NO. ____

A RESOLUTION WAIVING COMPETITIVE BIDDING REQUIREMENT AND AUTHORIZING THE PURCHASE OF A CLOSED-CIRCUIT TELEVISION SYSTEM FROM BECKTECH

JOHN BEARROWS, Mayor ROSE HUERAMO, City Clerk

TOM McDERMOTT
BIL HAYES
KATE SHAW-DICKEY
DAN McDERMOTT
ROSAELIA ARTEAGA
BEN VALDIVIESO
City Council

Published in pamphlet form by authority of the Mayor and City Council of the City of Rochelle Peterson, Johnson, and Murray, LLC, City Attorneys 1301 W. 22nd Street – Ste. 500, Oak Brook, Illinois 60523

CITY OF ROCHELLE Ogle County, Illinois

RESOLUTION NO. ____

A RESOLUTION WAIVING COMPETITIVE BIDDING REQUIREMENT AND AUTHORIZING THE PURCHASE OF A CLOSED-CIRCUIT TELEVISION SYSTEM FROM BECKTECH

WHEREAS, Section 7 of Article VII of the 1970 Constitution of the State of Illinois provides that a municipality that is not a home rule unit shall only have the powers granted to them by law and as such the City of Rochelle, Ogle County, Illinois being a non-home rule unit pursuant to the provisions of said Section 7 of Article VII, and may exercise only the powers expressly granted by law; and

WHEREAS, the Illinois General Assembly granted non-home rule municipalities broad authority to "pass all ordinances and make all rules and regulations proper or necessary, to carry into effect the powers granted to municipalities." 65 ILCS 5/1-2-1; and

WHEREAS, while "non-home rule municipalities have the authority to enact ordinances, such ordinances may in no event conflict with state law or prohibit what a state statute expressly permits . . . A local ordinance may impose more rigorous or definite regulations in addition to those enacted by the state legislature so long as they do not conflict with the statute." (*Village of Wauconda v. Hutton*, 291 Ill. App. 3d 1058, 1060 (1997)); and

WHEREAS, the City of Rochelle's current closed-circuit television (CCTV) video surveillance system is outdated and in need of replacement. The technology and clarity of cameras has greatly advanced since the original system was installed in the nineties; and

WHEREAS, the closed-circuit television system is used for monitoring activity inside and outside of the Police Department and City Hall. It is essential for security; and

WHEREAS, given that the City already utilizes Becktech for its security door monitors and radios, and that their CCTV systems do not require a monthly fee for maintenance, the City obtained a proposal from Becktech in the amount of \$111,686.76 for the purchase and installation of a new CCTV system for the Police Department and City Hall, a copy of which is attached as Exhibit A; and

WHEREAS, the City may waive competitive bidding requirements by a two-thirds vote of the City Council pursuant to 65 ILCS 5/8-9-1 of the Illinois Municipal Code and Section 2-371 of the Rochelle Municipal Code; and

WHEREAS, it has been determined by the Corporate Authorities of the City of Rochelle that it is in the best interest of the City and its residents to waive competitive bidding requirements and approve the purchase and installation of a new closed-circuit television system from Becktech.

BE IT ORDAINED BY THE MAYOR AND CITY COUNCIL OF THE CITY OF ROCHELLE, ILLINOIS:

<u>SECTION ONE</u>: That the City hereby incorporates all of the recitals above into this Resolution as if fully set forth herein.

<u>SECTION TWO</u>: The Mayor and City Council of the City of Rochelle hereby waive competitive bidding requirements and authorize the City Manager or his designee to sign the purchase order attached herein as Exhibit A for the purchase and installation of a new closed-circuit television system by Becktech in the amount of \$111,686.76.

<u>SECTION THREE</u>: If any provision of this Resolution or application thereof to any person or circumstance is ruled unconstitutional or otherwise invalid, such invalidity shall not affect other provisions or applications of this Resolution that can be given effect without the invalid application or provision, and each invalid provision or invalid application of this Resolution is severable.

<u>SECTION FOUR</u>: Where the conditions imposed by any provisions of this Resolution are more restrictive than comparable provisions imposed elsewhere in any other local law, ordinance, resolution, rule or regulation, the regulations of this Resolution will govern.

<u>SECTION FIVE</u>: The City Clerk shall publish this Resolution in pamphlet form.

<u>SECTION SIX</u>: This Resolution shall be in full force and effect from and after its passage, approval and publication in pamphlet form as provided by law.

APPROVED THIS 25 th day of March 2025	
	MAYOR
ATTEST:	
CITY CLERK	

EXHIBIT A



Barbeck Communications 1139 Franklin Grove Road DIXON, IL 61021 Phone: 815-288-5315 Fax: 815-288-3637

Page 1

QUOTATION 146000438

Bill To: ROCHELLE POLICE DEPT. 416 N. 6TH ST. ROCHELLE, IL 61068 Ship To: ROCHELLE POLICE DEPT. 416 N. 6TH ST. ROCHELLE, IL 61068

Contact: Accounts Payable

Contact #:

Email: cor-finance@rochelleil.us

Date	: 04/18/2024 Customer Rep: Cameron Lundquist	Terms: Payment U	pon Receipt
Qty	Description	Unit Price	Extended
1	AI NVR Standard 48TB NA	19,382.26	19,382.26
4	8MP H5A Fisheye Indoor In-Ceiling Camera	624.04	2,496.16
3	2x 5MP H5A Dual Head Camera Outdoor	1,280.33	3,840.99
1	H5A Multisensor 24MP Camera Module 3.3-5.7mm	1,802.23	1,802.23
4	3X5MP, WDR, 270 degree max field of view, Lightcatcher,	1,646.09	6,584.36
10	4MP H6A Indoor IR Dome Camera with 4.4-9.3mm Lens	904.83	9,048.30
11	2MP H6A Indoor IR Dome Camera with 2.8-12mm lens	716.40	7,880.40
1	Avigilon 12mp Analytic Fisheye IR, WDR 12.0W-H5A-FE-DO1-IR	950.52	950.52
44	Unity Enterprise camera channel	226.13	9,949.72
10	Unity Video Analytics channel	233.92	2,339.20
1	Adapter Cap for H5A Fisheye	61.20	61.20
3	Junction Box for H5A Dual Head Camera	93.64	280.92
5	Outdoor pendant mount adapter. For use with the H5A Multisensor	199.29	996.45
5	Avigilon IR Ring, up to 30m with use of dome cover	330.00	1,650.00
5	Corner Mount H5A multi-sensor	125.00	625.00
5	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	177.00	885.00
5	Omni-directional, low impedance, electret condenser microphone with	315.91	1,579.55
5	3.5mm audio and video I/O jack with 1.8m fly wire	16.97	84.85
5	Wall Mount for large pendant camera	135.64	678.20
5	Dome bubble & cover for outdoor surface or pendant mnt clear. Use with H5A multisensor	199.29	996.45
6	1000' Cat5e Cable Yellow Plenum	315.00	1,890.00
3	Netgear 16 Port PoE+ Switch 16 ports of PoE +	395.00	1,185.00
1	Misc. CAMERA/CCTV	1,500.00	1,500.00



Barbeck Communications 1139 Franklin Grove Road DIXON, IL 61021 Phone: 815-288-5315 Fax: 815-288-3637

Page 2

QUOTATION 146000438

Bill To: ROCHELLE POLICE DEPT. 416 N. 6TH ST. ROCHELLE, IL 61068 Ship To: ROCHELLE POLICE DEPT. 416 N. 6TH ST. ROCHELLE, IL 61068

Contact: Accounts Payable

Contact #:

Email: cor-finance@rochelleil.us

Date	Date: 04/18/2024 Customer Rep: Cameron Lundquist		Te	Terms: Payment Upon Receipt		
Qty	Des	cription		Unit Price	Extended	
1	Description Installation Camera system Rochelle Police: Separate VLAN for camera network Provide all monitoring viewing stations, phones, PC's, All networking equipment, bandwidth through out whole Hospital. Beck Tech Installation will include: Stage camera equipment in shop (ip address, license portal, set up user profiles, etc) Let burn in 24-48 hours, to check for manufacturer defects/ firmware update Pull cable to cameras Mount, focus and align all cameras. Mount servers in existing server racks Set up A.I Rules for customer Test equipment and alerts Set up mobile apps, web browser stations as needed Training for staff		es	33,000.00	33,000.00	
1	Shipp	oing, Handling and Insurance		2,000.00	2,000.00	



Barbeck Communications 1139 Franklin Grove Road DIXON, IL 61021 Phone: 815-288-5315 Fax: 815-288-3637

Page 3

QUOTATION 146000438

Bill To: ROCHELLE POLICE DEPT. 416 N. 6TH ST. ROCHELLE, IL 61068 Ship To: ROCHELLE POLICE DEPT. 416 N. 6TH ST. ROCHELLE, IL 61068

Contact: Accounts Payable

Contact #:

Email: cor-finance@rochelleil.us

Date: 04/18/2024 Customer Rep: Cameron Lundquist		Te	rms: Payment U	pon Receipt	
Qty	Description			Unit Price	Extended

Costs for Premium wages are not included in this proposal. Beck Tech's standard working hours are 8am to 5pm, Monday through Friday excluding holidays. Use of this quotation is based upon the understanding that Beck Tech, a Barbeck Company has necessarily assumed certain conditions in order to arrive at its best estimate for doing the work. In the event that actual conditions vary significantly from our assumptions made at the time of the quotation, then a fair adjustment to the price is expected.

Subtotal: \$111,686.76 Applicable taxes are not included

These include but are not limited to:

- Physical conditions significantly different that could not be determined from a reasonable inspection of the Worksite and/or information supplied by customer.
- Inability to start or have reasonable uninterrupted access for Beck Tech until work is completed.
- Reasonable prompt resolution of any questions that may arise in the course of the work, including necessary approvals by the customer or its agents.
 Terms are AS STATED ON THE INVOICE and late charges will be assessed for invoices
- Terms are AS STATED ON THE INVOICE and late charges will be assessed for invoices paid outside of terms.

Thank you for the opportunity to offer this estimate. Please contact us at our main office if you have questions at 217-428-7000.

Signature:			-
PO Number:			-
Date:			

STATE OF ILLINOIS)) SS.
COUNTY OF OGLE) 55.
	CERTIFICATE
Ι,	, City Clerk of the City of Rochelle, County of Ogle and State of
Illinois, DO HEREBY CER	TIFY that the foregoing is a true and correct copy of Resolution No.
, "A RESOLUTION	WAIVING COMPETITIVE BIDDING REQUIREMENT AND
AUTHORIZING THE PUR	CHASE OF A CLOSED-CIRCUIT TELEVISION SYSTEM FROM
BECKTECH" which was add	opted by the Mayor and City Council of the City of Rochelle on March
25, 2025.	
IN WITNESS WHER	REOF, I have hereunto set my hand and affixed the corporate seal of
the City of Rochelle this 25 th	day of March 2025.
	CITY CLERK